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49.

51.

53.

55.

57.

59.

tand = {g, =% Thencosf = 2 and sin = tanf - cos§ = lg,csce = j_ 4‘7/- and
— 3 3
cotd = ;=
sind —% Since cos€ <0,0isin quadrant II Thus, z = —+/52 -y 16 =
Therefore, cos § = —— ,tanf = “Z’ csch = 5, secl = ‘Z’ cotd = —%.
tanfd = —3. sec29~1+tan20—1+ 1= <« cos?0 = £ =  cosf = — %:—%
0
since cos @ < 0 in quadrant II. But tand = cs;r;G =—3 ¢ sinf=—1lcosh
—_1({_2\=- L i =L (_2)o_1L__V5
=-3 ( \/g) =7 Therefore, sinf + cos @ \/g+( \/g) 7 =
By the Pythagorean identity, sin?6 + cos?d = 1 for any angle 6.
10 30°
£B = 180° — 30° — 80° = 70°, and s by the Law of Sines, z = ES%O— ~ 5.32
2? =100% + 210% — 2- 100 - 210 - cos 40° ~ 21926.133 <« x ~ 148.07

sinB = 20-S60° 0947 o /B rsin-10.947 ~ 14.33°. Then

70
. 1 °
£C ~180° - 60° — 14.33° = 105.67°, and s0  ~ 70—2:2—(1330@7_ ~ T7.82.



